
M2PS1.1

Addition 

Instructions: Solve the addition problems below. 

1 
Ben spends 678 minutes playing a computer 
game. If he plays for another 510 minutes, 
how long has he played for? 

2 
Wanda has 1,213 stickers. If she is given 
another 427 stickers, how many stickers will 
she have?  

3 
Tracy has $1108 saved in a box. If she saves 
another $615, how much money does she 
have saved? 

4 

Rex needs to buy a new TV which costs 
$1,419. If it costs another $215 to deliver the 
TV to his house, how much money will he 
have to spend? 

5 
Fiona uses beads to make clothes. If she has 
835 blue beads and 416 red beads, how 
many beads does she have altogether? 
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6 
There are 755 yellow seats and 457 green 
seats in the stadium. How many seats are 
there altogether? 

7 
At Phoebe’s school, there are 623 girls and 
688 boys. How many students are there at 
her school? 

8 
Joanna has read 674 pages of a book. If she 
reads 850 more pages, how many pages will 
she have read altogether?  

9 
Becka buys a used car for $4235 but needs to 
fix two of the tyres for $89 each. How much 
will it cost to buy the car and fix it? 

10 
A library has 605 history books, 248 picture 
books and 436 story books. How many books 
does it have altogether? 

11 

On Halloween, Carla, Joan and Dennis went 
trick-or-treating. At the end of the night, Carla 
had 425 lollies, Joan had 216 lollies and 
Dennis had 360 lollies. How many lollies do 
they have altogether?  
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Addition 

Instructions: Solve the addition problems below. 

1 

Tim and Lina want to go on a holiday. If it 
costs $1125 for one person to go on the 
holiday, how much will it cost for both of them 
to go together? 

2 

Rory throws a ball 678 metres across the 
field. If Henry throws the same ball another 
750 metres, how far has the ball travelled 
altogether? 

3 
Josh spends $510 and $496 on new toys. 
How much did he spend in total? 

4 
Wesley orders a coffee for $6.75 and a 
sandwich for $15.65. How much did he spend 
at the café?  

5 
Tania uses 612 yellow bricks and 538 green 
bricks to build her Lego house. How many 
bricks did she use? 
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6 
Katie spends $1775 to fix a hole in her roof 
and another $1335 to paint her house. How 
much did she spend altogether? 

7 

Abby wants to surprise her son for his 
birthday. If she buys him a new computer for 
$2,945 and a birthday cake which costs $125, 
how much will it cost altogether? 

8 
At the school swimming carnival, there were 
452 girls and 487 boys. How many children 
were there altogether? 

9 

Joe owns a fruit store. Last week, he sold 
1425 oranges, 1500 bananas and 356 
watermelons. How many pieces of fruit did he 
sell last week? 

10 

From his house, Derrick has to travel 92km to 
the airport and fly 1,525km to get to an island 
for his holiday. After reaching the island, he 
has to drive another 50km to get to hotel. How 
far does Derrick have to travel altogether? 

11 

A wizard makes 1425mL of strength potion, 
2380mL of poison potion and 1125mL of 
healing potion. How many millilitres of potion 
did he make altogether? 
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